
Cat. No.

1800kg  75kg

      01/2003 - 01/2008 

X/013

8,95kN

D (kN) = MAX kg MAX kg 

MAX kg MAX kg 

x

+

x 0,00981

D =

MAZDA 6 
kombi

e20*94/20*0727*00e20



�
�
�

�
�
�
�

0Km 1000Km

Moment skręcający dla śrub i nakrętek (8.8)
      Torgue settings for nuts and bolts (8.8)

M8

M10

M12

M14

M16

25Nm

55Nm

85Nm

135Nm

195Nm

R 14,5 max.

30o max.

30o max.

R40 max.

75
 m

in
.

75
 m

in
.

AA

100 max.

14
0 

m
in

.

PRZEKRÓJ A-A

55
 m

in
.

32
 m

in
.

35
0-

42
0

PL Należy zagwarantować przestrzeń
swobodną według załącznika VII,
rysunek 25a/b Regulaminu EKG
ONZ 55.01 przy dopuszczalnym 
ciężarze całkowitym pojazdu.

L’espace libre doit etre garanti
conformement a l’annexe VII,
illustration de la reglements 
55.01 CE pour un poids total en 
charge autorise du vehicule.

The clearance specified in appendix 
VII, diagram 25a/b of Regulation No.
55.01 UN EU must be guaranteed at
laden weight of the vehicle.

Der Freiraum nach Anhang VII, 
Abbildung 25a/b der Vorschriften 
55.01 EG ist zu gew 25a/b 
ahrleistenbei zulassigem 
Gesamtgewichtdes Fahrzeuges.

GB

F

D



x1

x1

x2

x4

x2

x1

M12x110 2
M12x100 2
M12x70 2

M12 6

Ø36xØ13x3

13 2

12,2 6



BPk
t. 1

Pk
t. 2

Pk
t. 2

Pk
t. 1

Na
krę

tka
  M

12
 ; N

ut
Po

dk
ł. s

pr
ęż

.12
,2 

; S
pr

ing
 W

as
he

r
Po

dk
ł. o

kr.
  Ø

36
x Ø

13
x 3

 ; P
lai

n W
as

he
r

Śr
ub

a M
12

x1
00

-8
.8 

;  B
olt

Po
dk

ł. o
kr.

  Ø
36

x Ø
13

x 3
 ; P

lai
n W

as
he

r

Śr
ub

a M
12

x1
10

-8
.8 

;  B
olt

Po
dk

ł. o
kr.

  Ø
36

x Ø
13

x 3
 ; P

lai
n W

as
he

r

Śr
ub

a M
12

x1
00

-8
.8 

;  B
olt

Po
dk

ł. o
kr.

  Ø
36

x Ø
13

x 3
 ; P

lai
n W

as
he

r

Śr
ub

a M
12

x1
10

-8
.8 

;  B
olt

Po
dk

ł. o
kr.

  Ø
36

x Ø
13

x 3
 ; P

lai
n W

as
he

r

Na
krę

tka
  M

12
 ; N

ut
Po

dk
ł. s

pr
ęż

.12
,2 

; S
pr

ing
 W

as
he

r
Po

dk
ł. o

kr.
  Ø

36
x Ø

13
x 3

 ; P
lai

n W
as

he
r

Śr
ub

a M
12

x7
0-

8.8
 ;  

Bo
lt

Na
krę

tka
  M

12
 ; N

ut
Po

dk
ł. s

pr
ęż

.12
,2 

; S
pr

ing
 W

as
he

r
Po

dk
ł. o

kr.
  Ø

36
x Ø

13
x 3

 ; P
lai

n W
as

he
r

Na
krę

tka
  M

12
 ; N

ut
Po

dk
ł. s

pr
ęż

.12
,2 

; S
pr

ing
 W

as
he

r
Po

dk
ł. o

kr.
 13

 ; P
lai

n W
as

he
r

Na
krę

tka
  M

12
 ; N

ut
Po

dk
ł. s

pr
ęż

.12
,2 

; S
pr

ing
 W

as
he

r
Po

dk
ł. o

kr.
  Ø

36
x Ø

13
x 3

 ; P
lai

n W
as

he
r

Nr
 ka

tal
og

ow
y

Ma
rka

96
-1

11
 K

ow
ie

sy
, C

ho
jn

at
a 

23
 A

te
l. 

+4
8 

46
 8

31
 7

3 
31



• Odkręcić zderzak oraz metalowe wzmocnienie (nie będzie już wykorzystane).
• Opuścić tłumik z tylnego zawiesia oraz odnitować osłonę termiczną.
• Wykonać otwory w tylnym pasie (85x60 mm) w celu udrożnienia wejścia do 
podłużnic. Wykorzystać szablony- prawy i lewy.
• Fabryczne otwory w podłużnicach rozwiercić do średnicy ø 25.
• Wsunąć belkę haka do podłużnic.
• W rozwiercone otwory ø 25 wsunąć tuleje dystansowe (wg rysunku).
• Przyłożyć w bagażniku nakładki C i skręcić śrubami M12x100 8.8 (pkt 1) oraz 
M12x110 8.8 (pkt 2).
• Dokręcić wszystkie śruby z momentem wg tabeli.
• Przynitować blachę termiczną, założyć zderzak po uprzednim wycięciu 
fragmentu o wymiarach 75x45.
• Przykręcić kulę i blachę gniazda elektrycznego.
• Podłączyć instalację elektryczną.

• Unscrew the bumper and metal reinforcement
(it will not be used any more).
• Lower the damper from the rear hanger and rivet out
the thermal shield.
• Drill the holes in the rear belt of the car (85x60 mm)
in order to make the metal clamps permeable. Use template- 
right and left.
• Drill the technological holes in the metal clamps
to the diameter ø 25.
• Insert the main bar in the metal clamps.
• Insert the distance sleeves (according to the drawing)
in these drilled holes ø 25.
• Put the plates C in the boot and screw with bolts M12x100 
8.8 (point 1) and M12x110 8.8
(point 2).
• Tighten all the bolts according to the torque setting- see 
the table.
• Rivet the thermal shield and assemble the bumper after cut 
out his fragment 75x45.
• Fix the ball and electric plate.
• Connect the electric wires.



pic. 1



∅25mm

1 2
1

2

M12x100 x2 

12,2 x2 

Ø36xØ13x3 x4 

M12 x2

D x2

E x2

M12x110 x2 

12,2 x2 

Ø36xØ13x3 x4 

M12 x2

D x2



M12x70 x2

12,2 x2

13 x2

M12 x2

75

45



pic. 1

L

R




